A. P MODEL SCHOOLS
VI CLASS - ADMISSION TEST

| | 2018

WIS & (SIS 100 Sfe Sof. (S5 BHE Sl oS8 0. 3 FE5 b5 et
Rmeridne adwiln, SOEF oS Idrprshnmr oS Sdrgrs Sogd BRS Ik
85) (@PSe5S0 rabdodiod. [ j

L i) dho@liodh SHMas e 28w ? : ; ]

(1) Feoas (2) 05%S )8 DolkS  (4) &S KBS
2. HARS E8EC (@RS BD . I &
(es (2) 3% (3) > DbodD - (4) B0 sipe SBSay
3. €30 BorS soadl #rdys Soporgore &) FEsy 08 2 [ |
(1} BgSe0 (2) woobo (3) BHrosto (4) edabTrdvo
4. 259% soll Bod =0 56 ? AN [ ]
(1) 8% 2) (3) & (4) &Qos
5. Bob T8E* Barstrd TEEDS HhoSol. | |
(1) Dpes 3ty Bod @HB0mE. (2), 8By S BTHD.
(3) sSHGAm LosPse. (4) ED wb8 Sebioamid.
6. Srptd O oe8 ol HES o8 N8 HEY Holsvod Botrd 7 [ L
(1) Somist =8 (2) &&r ood (3) s o8 (@) Hogs o8
7. Boa 86 mrrs'ah S0 B0aLER Bas IS0 D6 7 ' I 1
(1) S6= (2) SWHér dants (3) Dhgerd (4) S6DTH
B. (Hogread edEbind Shgdarts o ? _ | ]
(1) SctoErp J68Doio Hodiorrd (2) asirBord JFe md
(3) rldg 00 EH oo (4) mogrge JHasy T
0. '3 B 553 eFo a Do 28 7 | I
(1) 2y (2) 3o - (3) Tt @) reo
10. 2oor Sosdiy s =ToDs S DES ? | ]
(1) Hotar (2} 3) =40 (@) Ersytoes
11, Fri8dof iy SIPEm. A8 af) Sov D rdrerko votrd ? | ]
(1) =Dk (2) d&mdodn (3) Bab (4) D¥hs
12, 5235 Dol EBIVH HPsr I 78 28 ? [ ]
(1) Zesie (2) EDedw (3) 2rod @) a5y
13, 1506 EE Soaibsss So 28 ? A
(1) soltisss (2) rEsod (3) 50 (4) adRod
14, 25025 e SEnE 5B5 5 (EEm HBoS0l. ! ]
(1) =98, b, DIvo. o (2) %, ipo, BB, G =

(3) 2%, o268, o, [te (4) =06, 350, A, v



I5.

16.
17.

18.

19.

20,
2L

22,

23,

24,

25.

26.

27,

EH J%‘bnﬁ TO HBbordy n:nmg}‘foue:won :
(1) ®deosen  (2) Bfen (3) ~eEfs Densen (4) AfgoSes

@0ori Bered®d Bgrmmo O 2ee ag ?

(1) Har (2) BrEFtoess (3) $Boxns (4) oBmen
DIDHE & SHod® dowoo &) HoeR) rHGoseA.

(1) dey (2) Sy (3) By (4) Beg
‘AbeSerd’ ese

(1) 50 dpsbire SrtpBartty (2) s3Ptore SPrEar

(3) $%p5re Srepdani . (4) Srbea® 2HBTED ﬁ‘w@aiﬂm&
8o >8&° SBI=Ivwost &) FENR: HBoSal.

(1) edis, 50 §36 PFheo St (2) &0 Yo FEHE= ammis.
() el SSrabow 5. _ (4) 29 AYS'R Fren FROL.
KON €D BenE S8 28 7

(1) Forss 58 2 g 6 (3) Bam 6 {4) oongiDe 56

‘TS Hogrey” 388 saets Iharo ?

(DB %08  (2)Pgd shod® () e ubes (1) ES sbos
DOAS F'ey o FOE MR B0 HEo TR 6l At i I5% ?
(1) Soosrd JB¥Doro SoMen v (2) A28 seexttdomng e

(3) wSirBend A rechy (4) ot Sy ey ™

808 8S° Kound arswd HBodod.

(1) D8 e 808, ) =55 89S 858, &b evnod,

() sHe fiip 28, K& Fevow. ($) Tiio SrTod Ik,

S8Bot> Sodod erSos” ToyEnss I BT a9 |
(1) S6%8 Schio (2) B o () iy Bobo  (4) e SFetho
SoTrSreet LEBS BT THo’ & B ach 7

(1) &ty et (2) 58S riose (3) *ootwsth (4) Stmen

NS80 (MATHEMATICS)
Bod 6 6 EvE) S NS D8 7

Which of the foilowing is not a multiple of "6" ?

(1)18 (2)43 (3) 36 @) 54
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Whici: of the following is the 7 tumon nght side of the figure ?
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Choose next figure of the pattern.
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A lory can carry 7500 kg. of weight. If one carton weight is 15 kg. then the how many such cartons
can the lory carry 7

(1) 450 (2) 600 3) 300 ) 500

28 S5pef 60 .. & Hhebod. wercd 15 Sspes® Jos & rEcs 7 [ ]
A cup can hold 50 ml of tea. How much tea will be there in 15 cups ?

(1) 600 ml (600 2.5.) {2) 800 ml (800 2.8.)

(3) 750 ml (750 2.9.) (4) S00 ml (900 D)

bd eBTES® addbo 11.30 Mol adbendd SN 2.00 Wed JuchoEsd IoHod. B
EairSodd oo Jo¥ 7 [ ]

(1)28%c. -00 & . (2) 2 Ho. - 30 2.
(3)2 0. - 45, {9)2 K. - 15 3.
Gayarri started from Avanigadda ar 11.30 a.m. and reached Vijayawada at 2,00 prn. Howmnch time

.. did she travel ?

(1)2h.00m (2)2h30m (3)2h45m 4) 2h15m
\Bob HE0s® Bord Imeds e 2% Urses® SrHe, ' ( ]
Express the shaded part of the circle as fraction. <
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49, 56, 68,90, 77, ....... P SE508E° S5HTE Sif) Sogges 52 7 [ ]
45, 56. 63,70, 77, ... P carry forward the pattemn.
(1) 77, 84 (2) 84,91 - (3) 84,98 (@ 77,91
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A bus can travel 5 km distance with one litres of diesel. How much liters of needed for 55 km of distance?
(110 (2)9 (12 (4) 11

o8y D Y Sogr, SoicBe DD DY oy Beo Jos ? [ ]
What is the difference between the three digited largest number and two digited largesi number ?
(1) 900 (2) 1000 (3) 10 {4) 90

a8 o Kbod, SiPed, B8len Do SeHud b DEred ASoime 7| ]
(DL &S (2) 6 EmS

(3) &S DS (4) =08 dmge

The diagram, which shows the interior rooms, objects, windows and doors of the house is called....
(1) Road map (2) Floor map (3) Top map {(4) House map '
SerinB o8 Sirod $618 b Jomhe Joyg Bod SIS aswlos. [ 1

The class wise strength particulars of Seetanagar Primary School is given in pictograph.

Class Number of students i the class
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How many students are there in the school ?

(1) &0 (2) 110 3) 100 (4) 105

a8 Band HEEL 4 & 25 do.de opd TEEG. scodd ebh Sy HETIE Jo8 oy
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(1) 25 &o. 00 Do.d. - (2) 26 &. 50 o. 5.

(3) 24 2. K0 Do, 4) 24 &. 00 Do.&n.

A tatlor uses 4 m. 25 e of cloth to stitch one coat. How much cloth does he require to stitch six coats?

(D 23m ®em  (2) 25m. S0cm. (3)24m.50cm.  (4) 24m. 00 cm.

8. 5, amzmammmmmm@agmma@a@
Sosse S B0 ol ? [ ]

Wl‘al is the diference between the largest four d1gtt number and the smallest four digit numbey, which
makz by the digits of 8,5, 0and 2?7 _
(1) 6642 (2) 6462 (3) 6246 (4) 6264
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Sridhar earns ¥ 9.450 per month and his wife eams € 8,750, If they spend € 13 475 per month, how
much do they save ?

(1) ¥ 4527 (2) T 4257 (3) ® 4752 (4)® 4725

A 3¢5 7,485 Eraraben Suf. Sdw B¢ AS $5 Sol] 980 trdraber S5 BoD. of 5§ 056
ag;saas&maaﬁoéﬁu&ammag;gﬁsm@amﬁnamﬁumwv DS ]

Gﬂet]:la has Rs. 7485. Kamala has Rs. 980 less than Geetha, Lakshmi has Rs. 450 more than Geetha

~and Kamala have together. Then find total money do the three friends have.

(1) T 28430 (2) ¥ 38430 (3) ¥ 28340 AT 28540

e8 8'0dd Dip 148 HHded® avnom. @amaﬁswa@ @m,nnea‘oﬁ‘amae.g
sTmon ? [ ]

A parden has l43mwsnftmes.'Ihe:fearefnﬁtmcsinﬂachrnw,Hnwmanymmlhcminthe
garden? .

(1) 7620 (2) 8620 (3) 9620 (4)9260
Bob Hevo @) HEPFS 34 Do.80. wavS BAW Heo T SPEYH Jod ? [ ]

The perimeter of the below shape is 34 ¢m. Find the mis¢ing length of one side.
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116 aroreth oy Bfewen 2 _ [ ]

How many days are there in 116 weeks ?

(1) B12 2) 712

(3) 612 (4) 821

o8 BE@r anyded 23 BAQme B9, HEEEH08 9000 Erdrdben B, WYaneDH T Erdrdhen
8BA aomyh. wand w8 BAE I Jod ? [ ]

A businessman bought 23 Radios and gave € 9000 to the vender. The vendor in return gave Rs, 7.
Then find the cost of each Radio |

(1) T49i . ) (2) ¥ 391 /

@T3m (4) & 381 |
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A motorcycle cnmpa-ny dealer showed the sale of motorcyeic in a ﬁmk in the box chart given below.

= 20 motor cycles
= 20 el DB
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How: many motoreyeles did he sold in Thursday ?
(1) 100 (2) 80 (3) 60 (4) 120
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Which of the following net can be folded into a cube ?

(1) 2
3 [ (4)
Bod 0t ErSrrs> grrres 59 ? : [

(1) |Bgerw - 4, SHYFre - 2, HEm0ss Séblipuo - 1

(2) \Beperen - 4, SHBHo - 1, TErosS ebtpemo - 1
{3}@@&&—5.{5&6@0-1.5@&5%&9-1

() Bgperen - 5, SHBF - 2, WroS Sexipmo < 1

Which of the following parts are appropriate to the “Tangram™ ?’

(1) Triangles - 4, Squares - 2, Parallelogram - I,

(2) Triangles - 4, Square - 1, Parallelogram - .

(3) Triangles - 5, Square - |, Parallelogram - |,

(4) Triangles - 5, Squares - 2, Parallelogram - 1.

&8 8518 K8 DD 5 ., ) 3 & wond & 558 KB Berego IR SEEH Sosgy [

Length and breadth of a classroom are 5 m, Then find the area of classroom in suqare meters.

(1) 15 (2) 18 (38 (4) 16
IENGLISH

Choose the sentence with comect use of capital létters. : [

(1) II;}’S are made in different ways. (2) Tays Are Made in different ways. |

(3) Toys are made in different ways. (4} toys are Made in Different u-rajrs,

Choose the word the carrect spelling. _ g [

(1) progrranse (2) programme (3) program (4) programe

Choose the word with wrong spelling. : , [

(1) exhibision > °  (2) district (3) luckly (4) friend - _

Choose the word that has the meaning of "stored wealth” N

(1) honesty (2) treasure (3) report (4) waste



55. Choose the word that does not refet to a person. [ ]

(1) swimmer * (2) principal (3) shining .[4} unckl

56. Choose the correct pair of rhyming wccds i ]
(1) bees - buzzing  (2) bees - trees (3) play - sheep  (4) bees - sheep

57. What are you up to ? ( ]

Choose the meaning of the question above.

(1) What are you thinknig of doing ? (2) How are you 7
(3) Who are you ? {4) When do you come up 7 _
- §8. Last week she ......... her birthday with her Inmds [ ]

(1) celebrated (2) wok pant (3) exhibited . (4) arranged

59. This water is salty. It is dirty too. [ ]
The above sentence means ................
(1) This water is salty but dirty. (2) This water is salt but dirt.
(3) This watér is salty and dirty. (4) Tjhsi water has ro salt and dirt.

60. Rajani is ...... her purse. She kept it somewher=, [ ]
Choose the correct pharsal verb 1o fill in the blani: abave.
(1) looking at (2) looking for (3) looking on (4) looking with

61. Choose the word that does not refer to a place. : [ ]
(1) ground (2) mourntsin (3) soldier - (4) exhibition

62. May I come in, sir ? . : [ ]
We use this expression ;
(1) to take permission. (2) to give permission.
(3) o give an ordec. (4) to take an order.

(63 - 65) Read the following passage and choose correct answers.
Amar opened on eye. Tiic Sun was shining brightly. His mother was in the kiichen. She was making
breakfast. His fateh was in the garden. He was singing and watering the plants.
63. This story took place -

11111111

: £
(1) in the morming. (2) at midnight. (3) at night. (4) before the sunrise.
64. " Whai was th: mood of the father ? [ ]
(1) happy (2) sad (3) angry (4) unhappy

65. His mother was in the

(1) kitchen (2) forest (3) playground  (4) exhibtion
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Last might we reached home at & p.m. and had our _____,

Choose the correct word to fill in the Han.l’ above.

(1) breakfast (2) lunch (3) supper
Tomorrow is my mother’s birthday.

In the above sentence "Tomorrow' is . . . . .

(1) a noun (2) a verb (3) an adverb

My village has (wo government high schools.

Choose the meaning of the sentence above,

(1) There are two high schools in govemment.

(2) There are two government high schools in my village.
(3) There are two gbvemments in my village.

(4) There are two governments in.high scheols.

Choose the form of adjective, | ‘

(1) remarkable (2) remark (3) remariabiliry

Choose the correct pair with similar (Same) meaning.

(1) present - gift (2) present - pleasure  (3) present - clever

Choose the opposite word of "pleasant”.

(1) inpleasant - (2) mispleasant {3) displeasant
Helen gave many speeches. She became & famous ... . , .
Choose the correct ward to fill in ihe blank.

(1) speaking (2) speech (3) speak
enereee. i YOU €81, @ mMANEO or an apyle 7

Choose the correct ﬁ:mtf to Jill in the blank.

(1) How (2} Whare | (3) ﬁhal
Choose the correct meaning of "helter-skelter”.

(1) in good health. " (2) in a correct order.  (3) in disorder.
Choose the correct meaning of "musicologist”.
{1} oo sho wnies about mﬁsic. ) i
(2) one who alwavs listens to music.

{3) one who stadees masic.

4) one who watches mowes.

{4j lunch

(4) an adjective

(4) remarkableness

(4) present - delight

(4) unpleasant

(4) speaker

(4) When

(4) immediately.
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() 30 &. (2) 30 8.5. (3) 300 &.%. (4) 360 8.%.
Speed of the earth per second in the universe.
(1) 30 mitrs. (2) 30 kms (3) 300 kms (4) 360 kms.
(Eo6® @t0d. [
Arrange in order.
o> EPOyE ol o o ESasio =5 oo
Harvesting . Ploughing Cutting Planting
1 2 3 4
W2,1,4,3 (2)1,23,4 (3)2,4,1,3 @ 2,431
Spd drsd SEROTT e Sodo [
(1) Hord (2) b (3) Sesb 4) D>
Immadi Yadava Narasimha Rayalu's dynasty is ............
(1) Sangama - (2) Saluva (3) Pallavs (4) Salivahana
370 R wgpso [
(1) ceIrogiso (2) 208204
(3) Sogsnp (&) ol
Birth place of Tenali Ramakrishna
(1) Rajamahendravaram (2) Ontimitta
(3) Chandragiri (4) Hampi
TR e8 Sovipdl ABRS BK [
(1) rozs (2) Vo (3) %8 @) &0
The tribe that speaks Remc’ language
(1) Gonds 2} Chenchus (3) Savara (4) Kuli

ohp g KogsDd

(1) 104 Noo%s §8% Faird.
(3) 100 Jootv ST dased.
If road accident occur .. .. . . .
(1) Mike phone call to 104
(3) Make phone call to 100.

(2) 108 Rouks 2% 3xrD.
(4) 180 Roods B8 Ao,

(2) Make phone cal to 108
(4) Make phone call to 180.




82, & Dot axyn

(1) asabno 8%  (2) Soghd & (3) 2oa:5n8 8% (4) oeond 8h
Find the picture in it
(1) Udayagiri Fort (2) Chandragn Fort
(3) Bhuvanagiri Fort (4) Ramagiri Fort
|83, o6t dysre 9ol aain ¢
(1) Sgad (2) wBpS (3) =55-g-u8)E () TEfes
Higher quantity of gas present in air, |
(1) Nitrogen (2) Oxygen (3) Carbon-di-oxide {3) Hydrogen
B4. ‘87 weostm L8 JobRG :
(1) =08 meocEdn (2) §3% Roge 3860
(3) by BTep Sty oRS (4) st vookte
‘Stucco' design is related 10 .o,
(1) House decoration (2) Enginneering skill
(3) Embrodiery work on silk cloth {4) Decoration with ornaments
85. Motbe (ridss | | N
(1) e (2) Dty 3 sigEp  (4) o8BS
Village diety' of Gonds. :
(1) Nagoba (2) Yellamma (3) Amma Thalli  (4) Akipen
B6. erisetn R darodso _
(1) oréredio | .(2} ¥y dareaho
(3) e SoHE Saveaio (4) ef; 3o daveao
Famous temple located at Basara.
(1) Ramalayam (2) Goutamishwara temple
(3) Saraswathi iemple (4) Laxmi Narasimha Swamy temple

87. HimSiogo ol 1000 ey IMEHFEH Fed &) apys :
For every ascent of 1000 mtrs from sea level, the temperature reduces by wvviinenns
(i3 16°C (2) 8°C (3)6°C (4) 10°C -
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Indian .Sl-‘cltt‘,.‘i : Umion territories.

(H28:5 () 23:7 (3)29 : 7 (4) 23:5
. D8 @ Sostod 8o -

Noctumal mammal

i.
4 \Q)

- ¥

. 83o0, Tl P | FEGy ok aS8 edd DigH ...

() &8 (2) ese5 (3) 38 (4) e
Electricity generated by Srisailam and Nagarjuna Sagar projects is ., . S
(1) Thermal Eleatricity (2) Hydro Electricity

(3) Wind Energy . (4) Solar Energy

.t obdud AP HERRD :
(1) 85§ Wen (2) 5epde Fen (3) B8 Hex (4) 258 Do

Thermors or vihrali{muluf Eurth are noted on ... L.
(1) Lykert scale |I[2} Cardio scale (2} Richeer scale (4) Sector scale
. Tandd & 369 dogiorad g€
(1) @0 (2) griasbe (3) adrd | A (3=
‘Bonsai' is the traditional art of ..ol _
(1) America (2) India (3) Japan (4) France
. weddidnd oreen LOH {ﬁ:t-(éﬁ z
(1) 800K afogo . (2) o) GmeS (3) o5 Sord 4) ==b o8
Vijayanagara empire defeatéd in the war of ...............
(1) Kalings : | . (2) Haldi-ghat
(3) Rakshasa Tangadi (4) Kali ghat
! Q‘\ ?
/ 4
|
(1) 35 ' (2} BPE5D 3) A 4) H%‘Sﬂ‘fﬁ

- (1) Spade (2} Sickle (3) Harrow  (4) Crow-bar
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' Identified languages of Indian Constitution

(1) 1625 (2) 1652

DS, wbe oo DEEH Sowohodid Pyt

(1) oparesy () Pseronf

(3) 1562 @) 1526

=

() Smoreoed (@) abroosh

Doctor who treats the diseases related to nerves and brain is ...

(1) Cardhclogist {2) Gynaecologist

(1) 256 AnHiod® Howry Reddo
(3) B=Bo =BAS TInise ok
Golden hour means.........

(1) Winning the bet at the last ininute
{3) The first hour afier the sccident

(3) Neurologist (4) Urologist

F5n SrSFSy 800w E05E Bod 08 BOHEUDD. [
(1) FEssHore = (2) S0 =ERBAS
L (3) Pbs T @) =B v
I vou find open ‘manholes’ on the road, inform fo ..............
(1) Civil supplies office (2) Municipal Corporation
(3) Police department (4) Heslth departinent
%% ABwioe NEso : : [
(1) Bod» (2) Hogrd (3) roRmd (4) oD
Special dance of Araku tribes.
" (1) Dhimsa (2) Santhali (3) Gussadi (4) Sugali
Kot aedt ofod oS 35, [
(1) S (2) Bothihid (3) aeenri (4) TGy
Rare fish seen in the river Godavari - _
(1) Pulasa (2) Gandu meenu {3} Vaaluga | {(4) Korra matta
85 658 ©08 ........... " [

(2) 66885 Hooth cwdy Soado
) 355 Betigpe i Sogses

(2) Time given before hanging
(4) Conversation between two national leaders



